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(F) @PIETTs WPl @ce d A2 [What do you mean by
assignment problems?]
(¥) @BeAF @3 el whe | [Define network.]
(o) Agmeerel firaRd @ T O@R? [What is meant by
sensitivity analysis?]
(¥) au ofsgzs T 2 [What is balanced transportation
problem?]
() T&e T el wie | [Define convex function.]

(o) 2= sriG= 2 [Define Hessain matrix.]

(®) T seforen cenanfirg ST 9oice F @RI? [What is meant by
mixed integer programming problem?]

(%) @ @ S [What is mixed strategy?]

() T-ferfermm cananfie $t2 [What is non-linear programming?]

() fEfmi § J=Tce F @RIT? [What is meant by Decision tree?]

(B) &1 3T FECe F A2 [What do you mean by idle time?]

(¥) (Rmsfs=s = F? [What is recursive function?]

4ot

3| fawa wenibe tes =R 19 [Construct dual of the following

problem]:
sifdaadt F9 [Maximize]: Z = 2x, +3X, + X,
*$7Z [Subject to]:  4x, +3X, + X, =6
X, + X, +5%, <4

X, Xy, X320
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AN e Amfs 77 @ Fova Az wemifs smigE 9 [Using
steeping stone method solve the following transportation problem]:

6 3 5 4|22

5 9 2 15

7
5 7 8 6] 8
7 12 17 9
T sjereRyl FIfbe (A9 @aafimw I F= 1 [Describe all integer
cutting plane algorithm.]

e @B eaHoa Minimal Spanning Tree f€fa =7 [Determine the
Minimal Spanning Tree for the following network]:

e @S eieifie STeE w2 [Solve the following linear
programming problem]:
sifedsadt ¥4 [Maximize]: Z =x, - X,
*$Z [Subject to]:  x, +2x, <4
6x +2X, <9
X, X, >0 @3 72 [and are integers.]

72 e g M N Fw afeuese e 39T 9 |

[Describe the method of processing n jobs through two machines.]

wifgsreret M aat e (2@nfs T w9 [Solve the following game
by dominance method]:
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i
B, B, B, B,
(TS A 8 10 9 14
[Player] A | A, 10 11 8 12

A, 13 12 14 13

51 faare ceaifie ST TR oy Serw-orafed I wre | [Describe
Wolfe’s method for solving quadratic programming problem.]

-fere
o | facea fifaza cenaife semfs sTig« w4 [Solve the following linear
programming problem]:
AfeFad F9 [Minimize]: Z =—-3x, + X, + X,
eZ [Subject to]: X, —2x, + X, <11
—4X +X,+2%; 23
2X, =X, =-1
X, Xy, X320
3 | gFeaw R@as[ics (G #bf =g A B,C,D ¢ E fiw<q Fare
2T | AT *1=ead Ay (¥s fFEnfoE) e =@ [A salesman has to
visit five cities A, B,C,D and E . The distance (in hundred km)
between the five cities are as follows]:

To
From A B C D E
A - 2 4 7 1
B 5 - 2 8 2
C 7 6 - 4 6
D 10 3 5 - 4
E 1 2 2 8 -

I R A *=d e @ ARE I GR @ A TR @
AT, SR (P AL AR FA0 Gt I qAg WfoGw F0S A2 [If
the salesman starts from city A and has to come back to city A,
which route should be selected so that total distance travelled is
minimum?]

4 Operations Research - 2017

3| (F) FEH &R TR AT &= @@aifaws @92 | [Write down the
algorithm for solving maximal flow problem.]
(¥) e 3ffe @ Beasa Imefre Tffie gRawTel Riavas
@ eAFHa & g7 9w F7 [Find the optimum flow for the
network given below considering the capacity marked on the arcs]:

so | {5 Afsae e wefEe g Ay 9, @I =9 9 oAi7[Es
¥75 BRI el wiee [Find the optimal solution to the following

transportation problem in which the cells contain the transportation
cost in taka]:

W, | W, | W, | W, | W, | & [Available]
F 7 6 4 5 9 40
F, 8 5 6 7 8 30
F 6 8 9 6 5 20
F, 4 7 7 8 6 10
TS
[Necessity] 30 30 15 20 5

38 | fTea et cananfie TR T F7 [Solve the following integer
programming problem]:
sifedFae T4 [Maximize]: Z = x, +4x,
*[$Z [Subject to]:  2x, +4x, <7
5x +3x, <15
X, X, >0 @3 2t | [and integers]
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5¢ | Brown’s @@afiws @3 =G iteration @zo w3 fsx (o smGHfw
CFE ISR FATTT @Fe @@ F9 | TS (REHIC @9 CFeE @R
(1T @3 I Ol 79y B @ R A1eF [Carryout eight iterations of

the Brown’s algorithm on the following matrix game. Find the
approximate optimal strategies for the both player as well as the

best available upper and lower bound of the value of the game]:

4 2 51
2 3 2 4
1 6 4 3

S | TIEAINS (il @eifawa o1 | Sreseim A TN F9 [Write

down the dynamic programming algorithm. Hence solve the

problem]:
sifedaad ¥4 [Maximize]: Z = x2 + X7 + x?
*eZ [Subject to]: X, + X, + X, <9
X, Xy, X320
59 | FA-5FR @ geaist dea [Apply the Kuhn-Tucker technique]-
sifedFae T4 [Maximize]: Z = 7x7? + 6x, + 5%/
*[$Z [Subject to]:  x, +2x, <10
X —3X, <9
X, X, 20
TG e Sy e wRes [iwl [dimd 79 @3 @3 g

barox frerel STMe w9 | [Determine whether the objective

function is concave at the Kuhn-Tucker points and hence find the

global optimal solution.]
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